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ATYFOEELRZEDIRUEE : EX0501~EXx0503

10[ms] B (CBEEX TDREEZ K Oy(CHA
e, 0<=y<=500[mm]&T 3

void loop() {
int y = dist measure (10, 0, 500);
if (y != -1) {
(V)i
int s = robot state(y); // ARvY hDIKRE1, 2, 3

robot act(s); // ARvY ~DENME

}
}

10.0; // HEBIEE
float d = 100; // BEEIEEE 100[mm]
int u; // #HlH=

int sp=300;

const float KP



robot_state E#{&robot _act BEEL

int robot state(float y) {
int s;

u =KP * (d - v);
if (u > sp) u = sp;
if (u < -sp) u = -sp;
(r);

if (u == 0) {

s = 0; // {Elk
}
else if (u > 0) {

s =1; // #iB
}
else if (u < 0) {

s = 2; // HIE

}

return s;

void robot act(int s) {
switch (s) {
case 0: // Ik

motor (0, O, HIGH, HIGH);
break;
case 1: // #RB

motor((int)u, (int)u, LOW, LOW);
break;
case 2: // BIE

motor((int) -u, (int) -u, HIGH, HIGH);
break;
default: // {EI1t

motor (0, O, HIGH, HIGH);
break;

velocitydJd7(0.0, -u);



JJ7 Oy b DEAEFIE : EX0504

void loop() {
int y = dist measure (10, 0, 500);
if (y !'= -1) {// O[mm]D*5500[mm] X TDE

(V)

gt Z10[ms | B

JJ7Controller(y); // ARy kZz&IFELLEIHIHE
(10); // EBICKDEIZICEHIES



JJ7Controller BE9%&

// HEHRER

const int sp=300;
float KP = 10.0, 4 = 100;

void JJ7Controller(float y) {
float u; // #lff=

KP * (d - y); // LePBIFRIEZEE (FESS)
if (u > sp) u = sp; // FEEXREZEB
if (u < -sp) u = -sp;// BREEEZERB

(u);

velocityJdJ7 (0.0, -u); *

u
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Ex0505 : REF#ERbH 2 DH SHlE%R

const int sp=200;

float KP = 0.002, dl1 = 50.0, d2=150.0, d3=250.0;

void JJ7Controller(float y) {
float u; // #lfHIE

u = KP * (dl - y)*(d2-y)*(d3-y);
if (u > sp) u = sp;

e

if (u < -sp) u = -sp; HHEZRODEH u NI RXRAEBRXERD

Serial.println(u); 3 DD

2187 5

velocitydJ7(0.0, -u);
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